R

EEE

Akribis Systems



B0 H

)
od

0Pl

BRg

DR Skl

SwalsAs sIquYY

114

SGL &%/

EZNED)

SGLAFINERBELENMNEREMRL, BHPRSHN. BB HIORUERIFFINTIIFAR, ABEHER SHEEREA,

BHREF M2 1 SGL8O0. SGL100, ARIESEFMRAE R, 2T ERAN BRIV E LB, DR E R IR ATk, E2E S,
MEAUMESK S ELBENRAT UMEITEIED, RASRSH, ERTEHY, s RNSRE R RS R Rz TR A.

$FEEHEST Fen = 35.2N~85.0N
I&{&HE ST Fpk = 176.0N~433.0N

D)

> HSMELENTA E R TR A A KR R i, R E5m/sEEBERE, (TR SR (100mMEEEK)
> RNEELSAUMRTIELEA]
oo e L
> EERAMERAL M Hodl: B T SRR T SRR . SRR R R S B IR IR  h ORE A (S ST R i, U Tl
> TEMI00MmEB0mM, ERBR o e T e R R S 2 TR
b SEEETE%0.5umaEk0.05um * [ Lsm=RR SR g R R ml ATl Lot
> ERENREEES
> REFE3m/s, IEETAGEEER
m 45T (Fen m IE(EHES (Fok N .0 BE
H41EA B4 ERT (Fen) (P won | 502 o g
so | 10 | 200 [ 300 | 40 [ s00 |(mm)[Tm)
g | | | | |
{/ % AUM2-54 % 176.0 | | 100 116
SGL8O AUM2 ,,,,,L,,,,L,,,,i,,,,%,,,,% 77777 I
. AUM3-52 - 089.0 ‘ 118
', % fffff 800
SGL100 AUM3 AUM3-53 ] .
E:
O TRIBFRIBEBATIE.

F FRIMRE R, AT E ], 5B R cust-service@akribis-sys.cno




SGL &%/

SGL80 &%

SGL80 &%

BB Y fE b
BES - AUM2-S4 %

i 2wl N 35.2
[E30=¢i: 9] N 176.0 %
HEER £10% N/Arms 220 %
REFEEE £10% Vpeak/(m/s) 18.0 =
MRS L=<y HE s
SH - 154 B4 n
s - HERHH 0.5 SHE B

#e3t M 0.05 D HER

BETEMREE um +3 jz
B4E um/mm +10/300 Q
BAEE m/s 15 Eéq
BEHH kg 7 i
SHIEHRE kg 1.7 7{;
REHK - K /MR ﬁ
22
=1
%

1T gF N (OPN) :

#
=]
I'Z
PAN
(==}
: . : A i
! b : [ ba
: I : [ N
. : A =
- A 5k -
s : PoL Ly
SGL80 P : L i J2:DSUB, 1%
Pl : o 4
P : ol e gL
P ; R B:3.0m ¥
N : . =
&R P S
CSHRE@ERN) b : b N
: : b HR: i
E 5 R L5, 11ppm/K el
: i : B
i E i YA 2E:
: : : AT73:ABA50E EnDat2.2 (0.05um) E'E
BEMITIE o : : : AT1:ABA50M Mitsubishi (0.05um) 4
01:100mm | ; A R2F: Quantic (0.5um) |
02:200mm : :
03:300mm ' :
04:400mm ' :
05:500mm : :
06:600mm !
07:700mm : : B »
s ' emeeeeemmneeeeemmneeeeenneee B U06: AUM2-S-54-K (I{E##E77: 176.0N) £
g
*: U>)‘
O TREITIZRIE100mm, DT EL AL, BB R FATAVHE TI2IM (cust-service@akribis-sys.cn) o "
2
g
4
<

115




B B0

Ll

3

Y

7]
il

[ShEifs

s Rl fesn s S 1S

AN
03—

B

IS o> e

BRmf

1%

O-H &5k

%

By vz

O Bo =g

SWwalsAS sIquYY

116

SGL &%/

SGL80 &%

W SGL80-AUM2-S4 R~ &

121

110.0
30.0

=
(2]
- (]
IF 1 L T
o0& - &
8x 050 150 Moter,hall,encoder cable out
M6x1.0-6H v 12.0 2x 6.0H7 ¥ 7.0
1/2 Effective Stroke+10 70.5 80.5 1/2 Effective Stroke+10
[ R
| |
H | R oo |
T ~|
I P ™~
® ® ® ® ® ®
Ls
(2N+4) Mounting holes
¢8.0H7 6.0 See detail ®8.0H7x12.0 V6.0
—1l |
_ _ _ _ _ I _ 10.0
© © © © © © © © © I M x 1.0-6H
— - T - - - - - - - r -—D 2 i £ 2
i — ] DETAILA
SCALE1:1.5
120.0
M+10.0 (N-1) x120 M
BRUTIE EEKELs N M RS
(mm) (mm) (mm) (kg)
100 283 1 105.5 3.93
200 383 3 35.5 51
300 483 3 85.5 6.05
400 583 5 15.5 7.24
500 683 5 65.5 8.42
600 783 5 115.5 9.39
700 883 T 45.5 10.59
800 983 T 95.5 11.78




SGL100 &%/

SGL100 &%l

BSHK B #E
BHAS - AUM3-S2 AUM3-S3
RSN N 57 85
[ 3¢ ] N 289 433
FEE £10% N/Arms 314 47.1
REHEEH 10% Vpeak/(m/s) 25.6 385
S B #E
SH - 154# B4
D um ERSM 0.5 DR

H3FT0HEM 0.05 DR
ESEMUREE pm +3
BHEE um/mm +20/500 +20/500
RARE m/s 2 2
MEHE kg 5 8
SHIEHRE kg 1.25 1.64
REHRN - KT /MRS K /MR

gL (OPN)

S
SGL100

SG LOO

=R

i

O TRAEITIZEIE100mm. INFEE ML, B R IRTBISEE TI2)M (cust-service@akribis-sys.cn) o

U18AT311

SGL &%/

HR:

1:40%%, 11ppm/K |

RED 28
A73: ABAS0E EnDat2.2 (0.05pm)

AT1: ABA50M Mitsubishi (0.05um)

EBA.:

U18: AUM3-S-S2-K (I&{E#E77: 289.0N)

BYSBOH

[

pRal S fesdnae ShtS7

JIpSS]uiites

IS

5 B Il

B8

D Skl

Akribis Systems

117



SGL &%/

SGL100 &%/

MW SGL100-AUM3-S2 R~TE

145
110.0

- 300 g

BY=B0H

b el

B
©

122.0

3

=

To—=
BRI

i oF .

A T :

= T

[

Moter,hall,encoder cable out
8x ®5.0 V15.0

s Rl fesnl SN 1S

AN
09—

B

0P et

#

By vz

O Bo =

SWwalsAS sIquYY

118

M6x1.0 - 6H

v 12.0

2x _$6.0H7T V1.0

1/2 Effective Stroke+10

\ 82.5

92.5

1/2 Effective Stroke+10

Ls

®8.0H7 V6.0

(2N+4) Mounting holes
See detail A

132 —

©8.0H7x12.0 .

86.0

V6.0

- ?10.0

_ M6x1.0-6H

5.5

|

N

i

M+10.0

120.0

(N-1)x120.0

!

DETAILA
SCALE1:15

BRITIE

(mm)

EEKELs
(mm)

1ELH R
(kg)

fein

100

307

200

407

300

507

400

607

500

707

600

807

700

907

800

1007




B SGL100-AUM3-S3 R~TE

SGL &%/

3 oo %
7 o f
b \ Pl | q
, I , °
N
' N ’ .
b : T T T 3
S ‘
& & &
Moter,hall,encoder cable out
8x ®50 V150
M6x1.0-6H V¥ 12.0 2x ®6.0H7T V7.0
— 1/2 Effective Stroke+10 e 1005 . o 110.5 : 1/2 Effective Stroke+10 -
|
o —
| ! !
! ! | ooz} (o]
7 T 2 <
4 4 o
® ® ® ® ® ® ® ®
A
. Ls — —
(2N+4) Mounting holes
$8.0H7 V6.0 See detail A $8.0H7x12.0 V6.0
= ‘
B ] B - B B B . ©10.0
o ‘ M6x1.0-6H
| © © © © © © © © © © © jau
. ” o o
P - - - - - - T - o )
7 7 ‘ g .n‘
- — - - - - - }
| I
DETAILA
—— 1200 SCALE1:1.5
M+10.0 (N-1)x120.0 M
BT EEKELs N M KBRS
(mm) (mm) (mm) (kg)
100 343 3 15.5 7.3
200 443 3 65.5 9.7
300 543 3 115.5 11.1
400 643 5 45.5 13
500 743 5 95.5 15
600 843 T 25.5 16.4
700 943 T 75.5 18.4
800 1043 T 125.5 20.3

BYSB0H

3

Il

")
il

[ShEifs

s Rl fesnlns SN TS

AN
O3~

RO | DHDES | SN

5 B Il

Ble g Ui

o> Bo =g

Akribis Systems

119



